Exam 2 In-class Portion Differential Equations  3/17/06

Each problem is worth 10 points. For full credit indicate clearly how you reached your answer.

1. Determine whether x(r) = —e™ sin 3z, y(f) = ¢ cos 3t is a solution to the system of differential
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3. Find a general solution to the differential equation y” —y’ — 12y = 0.
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4. a) Find a general solution to the partially decoupled system
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b) Find a particular solution satisfying the initial condition (x,,y,) = (5,3).
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5. How do you know that Laplace transforms are linear, i.e. that Z[a-f(x) + b-g(x)] = a Z[fix)] + b
Z{g(x)] for any functions f and g whose Laplace transforms exi
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